
SAP ABAP table JGTBV {IS-M/SD: Employment Relationship}

JGTBV

MANDT [CLNT (3)]

BVNR [CHAR (10)]

VSG [CHAR (10)]

VSG_MA [CHAR (10)]

JPARVW [CHAR (2)]

KTGRD_MA [CHAR (2)]

ABRKAL [CHAR (2)]

WAERS [CUKY (5)]

KURST [CHAR (4)]

GPNR_ZE [CHAR (10)]

LAND1 [CHAR (3)]

MWSKZ_ISP [CHAR (2)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JGTBV-GPNR_ZE = JGTGPNR-GPNR 

0..N

1

 JGTBV-VSG_MA = JGTGPNR-GPNR 0..N

1

JGTVSG

MANDT [CLNT (3)]

VERSERVGES [CHAR (10)]

 JGTBV-VSG = JGTVSG-VERSERVGES 
0..N

1

T000

MANDT [CLNT (3)]

 JGTBV-MANDT = T000-MANDT 
0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 JGTBV-LAND1 = T005-LAND1 0..N

1

T681A

KAPPL [CHAR (2)] JGTBV-KAPPL = T681A-KAPPL 0..N

1

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 JGTBV-KALSM = T683-KALSM 
0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JGTBV-WAERS = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 JGTBV-KURST = TCURV-KURST 

0..N

1

TJG39

MANDT [CLNT (3)]

JPARVW [CHAR (2)]

 JGTBV-JPARVW = TJG39-JPARVW 

0..N

1

TJG63

MANDT [CLNT (3)]

IDENT [CHAR (2)]

 JGTBV-ABRKAL = TJG63-IDENT 

0..N

0..N

TJL17

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

MWSKZ_ISP [CHAR (2)]

 JGTBV-MWSKZ_ISP = TJL17-MWSKZ_ISP 

0..N

0..N

TJL21

MANDT [CLNT (3)]

JKTGRD_MA [CHAR (2)]

 JGTBV-KTGRD_MA = TJL21-JKTGRD_MA 

0..N

1


